H3VE0D I8p ugloesue|d ap Jojoaig
zanblipoy sejusn snsar -or

oloqe|3
— — e _—
—_—— .

A

00'281'€98'8.Z'1L

0006225’
00°925'981°L
00'G69'LLF'ZLG
00'LLS'OLY'GPS

00Zie'Lol'sz

00'86.'2€2'99

16'988'28E'8ES L

12'965'v1E'22
ZL'y18'651'6
9/'96¢'969'69%
60°L98°0LV'L6S

S8'ES8'ZIT'6L

06°'GL9'046°L9¢"L

v1'69€°202'€C
62'7£8'89¢'6
91°420'2.5'605
65°0€T°CyL'Zrs

ZL0LL'8LB'LL

Cr LBE'G15'25E L

LE'8.5'769'L2
€£'68Z°156°01
LL°180°L¥9'69Y
L¥'6v¥6'982°20S

09'9LL'0L2'02

OL'EGE'9E0'BL
00'8.9'v.6'2L
Zl'899'618'LSY
ZZ'669'0£8'e8Y

CL'866'04L2S

LLPP9'L99'001" L

16°981'€86'8L
L9°/Z6'VS9'EL
68'619'€26'vEY
E€GVEL'LOG LoV

ZLOEL'SPB'ZL

(z+1=¢) sosa163 ap opeynsay |op |ejo] "¢

ed11qnd epnaq

sauoioepody A sauoioedioiued

SBUOISINOIH SBJJQ A SEISIOUBUI SBUOISIOAU|
EJI|aNd ugisiaAu)

so|qibueju & sajganiuu| ‘sajganyy saualig

l
'H
D)
|
3
sepnhy seno A soipisqng ‘seuoioeubisy ‘seusiejsuel)  ‘Qq
So|elsuas) soRINSS D)
sogsiuiwng A sejeualepy °g
S8leuosiad SoPIABG 'y
(I+H+9+4+3+Q+2+g+V=Z) opejanbp3 ojseq 'z
B2|qnd epnag
saucpeyody A ssuopeddipey
S8UOISINOId SBLQ A SBIBIOUBUIY SBUOISIBAU|
BJ1|qNd UoisiaAy|
sa|qiBueju| @ sejganiuu| ‘sajgenyy sausig

H
i3
E|
‘3
sepnAy sesQ A soipisqng ‘seucioeubisy ‘sejousigisuel] Q
0
R:
v

ZL'e2T'88S9'8S L2 L66'8PS VS $5°509'v0p'98 W'6LY'61L9C8 L'866'668'8S S8jeisuag sopieg
00°G6¢'LYR'SL €9'LSL'6YP'8YL LELPL'EVL'SLL 00°9€0°'S6L L L CSYEY LLE LLL €4'865'L6V'E6 sodsiuwng A ssjeusie
00'992'v0Z'9E9 CTL6L1L99'LL L9'0€6'55S'LE9 08'689'818'829 ZZ'660°0L0'795 2ET81'L58'.2S S9jeuosiad SoIneS
00'LL6'9PP'EEL Z8'6L0'CL6'0V6 LE'GBE'L28'GZ8 G6°LPP'822'058 26'LS6°LEL'DLS 81°0L6'660'€69 (I+H+9+4+3+0+J+8+V=|) opejenbiz oy 0jseg) ‘|

14174 vZoe €20z (4414 Loz 0zoz (a) o3desuoy
(sosad)

407 - sosai63 ap sopejnsay

0B|epiH op opejs3 |ap sesa|jye

g ap oi6aj09




